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FHE KA FREH | FHEH FE KA e | TS

1 [FAER 7 R |EHEE 11,000| | 31 [k 84 N1 8,000
2 |RE BE= LS 600,000| | 32 |#% BEAREE Bk |EHERHE 11,000
3 |FEAR A | BEE 10,000| | 33 (M@ AXEE % [FRE 163,000
4 | &Rk &7 R |[EREHE 20,000| | 34 |& =% R |RERT 15,000
5 |4EH K R |BER 11,000| | 35 |&& hdk B’ |EER 26,000
6 |GH AEHE K ([TFEER 14,000 | 36 |=15 i) R |BRER 30,000
7 |BE NGIN £k |FELE 20,000| | 37 |&1B i) R |BRER 20,000
8 |fFEk 13 K |RRE 11,000| | 38 |11 = R |BERER 11,000
9 |FHE A7 Nt 22,000| | 39 |R2 BINE B | KBRAF 18,000
10 |4 L) B’ |BER 26,000| | 40 [Chen Yucherng # |XER 24,000
11 | K= T B | KBRAF 11,000| | 41 (M = B |ERREB 11,000
12 | XH 1= B |ERREB 11,000 | 42 |FF A B’ |ERES 77,000
13 |KH T R |ERE 13,000 | 43 |& B— R |TER 11,000
14 | XH T R O|ERE 15,000 | 44 |& B— | TER 11,000
15 [ A E Sl R |BIRE 13,000 | 45 |& B— | TER 11,000
16 | AT &R RE R |ERE 11,000| | 46 [pkA B2 & |duEE 13,000
17 |[{REE EH R [KRERAT 13,000| | 47 |TEM@ (i B’ |ERES 11,000
18 |34 =7 B | KBRAF 8,000( | 48 |JEM BN B | BME 20,000
19 |1l e} A EGE 48,000( | 49 |#k E2y:3 B |BHEE 11,000
20 |l BIE B [RERR 15,000 | 50 |+ E= | EHME 161,000
21 | ARHT — K N1 49,000( | 51 |E maET Bk |KRA 12,000
2|85 st R | BAME 18,000 | 52 |#EF e ) = EGESIE 14,000
23 |JAI%F Hiz R |ERIE 11,000 | 53 |#&R Eid B |BINE 20,000
24 |/ HR a3 R |HERE 14,000| | 54 (AR ik e R | EER 14,000
25 |/I\HE a3 RS 14,000| | 55 |=88 Bz B |BERE 11,000
26 |/nil 25 7] | EER 300,000( | 56 |EF f R B’ |ERED 33,000
27 [BEH BRIZ R | KBRAT 10,000( | 57 |7tk My B’ |BER 20,000
28 |tk 4 R Rt R | BAME 10,000| | 58 [1LiF = B |BER 11,000
29|fE4R 1BZ K |BRE 32,000| | 59 |LME B B |duEE 9,000
30 |1EBE HE B |HERE 13,000| | 60 |1t Vol = EGESTIE 27,000
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61 |RLE H R O|HERE 207,000| | 91 £
62 53 92 R
63 53 93 R
64 = 94 B
65 B 95 Bk
66 53 96 R
67 1 97 S
68 R 98 R
69 R 99 R
70 = 100 R
71 = 101 R
72 = 102 R
73 = 103 R
74 = 104 e
75 = 105 R
76 = 106 R
77 R 107 R
78 = 108 R
79 B 109 Bk
80 e 110 Bk
81 e 111 Bk
82 o 112 R
83 o 113 Bk
84 e 114 Bk
85 e 115 Bk
86 o 116 R
87 R 117 R
88 o 118 Bk
89 B 119 BR
90 B 120 BR




